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1 RKF\AKIRE 1 HE] 5K Al JAARIRE 1 HiE
2 KFI\AKIRG 2 HE|T5F ) B JAARIRE 2 HiE
3 REFNARPE 3 HE kS JAARIRE 3 HiE
4 KGRI 3 Mg/ % JAARIRES 3 HiE
5 RTFIINARREE 3 75 = JAARIRE 3 HiE)
6 KGRI 3 HiEl T8 [ JAARIRE 3 HbtE
7 KRG \ARIREE 3 HEl 52/ ML JAARIRE 3 HiE
8 KGRI 3 HiEIF2 4 E O JAARIRE 3 HiE
9 RF\ARIRE 4 #E] 5 H JNARIRGE 4 HE
10 | RF\RPGE 5 #5725 # R JAARIRE 5 HiE)
11| R5)URIRGE 6 Bl i JAARIRE 6 HiE)
12 | RFINARPGE 7 #iF7Z7 k2R JAARIRES 7 HiE
13 | R5\RIGE 8 M5 EuiA JAARIRE 8 Hik
14 | RFII\ARPE 9 HiE|F R Hh JAARIRE 9 HiE
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